On Special Fuzzy Differential Subordinations Using Generalized Sălăgean Operator and Ruscheweyh Derivative

Alina Alb Lupas

Department of Mathematics and Computer Science, University of Oradea, str. Universitatii nr. 1, 410087 Oradea, Romania

Abstract: In the present paper we establish several fuzzy differential subordinations regardind the operator $RD_{\lambda,\alpha}^m$, given by $RD_{\lambda,\alpha}^m: A \to A$, $RD_{\lambda,\alpha}^m f(z) = (1-\alpha)R^m f(z) + \alpha D_{\lambda}^m f(z)$, where $R^m f(z)$ denote the Ruscheweyh derivative, $D_{\lambda}^m f(z)$ is the generalized S $\bar{a} \mid \bar{a}$ gean operator and $A = \{f \in H(U), f(z) = z + a_2 z^2 + ..., z \in U\}$ is the class of normalized analytic functions. A certain fuzzy class, denoted by $RD_m^F(\delta,\lambda,\alpha)$, of analytic functions in the open unit disc is introduced by means of this operator. By making use of the concept of fuzzy differential subordination we will derive various properties and characteristics of the class $RD_m^F(\delta,\lambda,\alpha)$. Also, several fuzzy differential subordinations are established regarding the operator $RD_{\lambda,\alpha}^m$.

Keywords: Fuzzy differential subordination, convex function, fuzzy best dominant, differential operator, generalized S \breve{a} I \breve{a} gean operator, Ruscheweyh derivative.

1. INTRODUCTION

One of the most recently study methods in the one complex variable functions theory is the admissible functions method known as "the differential subordination method" introduced by S.S. Miller and P.T. Mocanu in [12], [13] and developed in [14]. The application of this method allows to one obtain some special results and to prove easily some classical results from this domain. More results obtained by the differential subordinations method are differential inequalities. From the development of this method has been written a large number of papers and monographs in the one complex variable functions theory domain.

A justification of the introduction of the differential subordinations theory was presented in [15], "knowing the properties of differential expression for a function we can determine the properties of that function on a given interval." By publication of the papers [15] and [16] the authors wanted to launch a new research direction in mathematics that combines the notions from the complex functions domain with the fuzzy sets theory.

In the same way as mentioned, the author can justify that by knowing the properties of a differential

2000 Mathematical Subject Classification: 30C45, 30A20, 34A40.

E-ISSN: 2409-5761/17 © 2017 Avanti Publishers

expression on a fuzzy set for a function one can be determined the properties of that function on a given fuzzy set. The author has analyzed the case of one complex functions, leaving as "open problem" the case of real functions.

The author is aware that this new research alternative can be realized only through the joint effort of researchers from both domains. The "open problem" statement leaves open the interpretation of some notions from the fuzzy sets theory such that each one interpret them personally according to their scientific concerns, making this theory more attractive.

The notion of fuzzy subordination was introduced in [15]. In [16] the authors have defined the notion of fuzzy differential subordination. In this paper we will study fuzzy differential subordinations obtained with the differential operator defined in [4].

Denote by U the unit disc of the complex plane, $U = \{z \in C : |z| < 1\}$ and H(U) the space of holomorphic functions in U.

Let $A = \{f \in H(U) : f(z) = z + a_2 z^2 + \dots, z \in U\}$ and $H[a,n] = \{f \in H(U) : f(z) = a + a_n z^n + a_{n+1} z^{n+1} + \dots, z \in U\}$ for $a \in C$.

Denote by $K = \left\{ f \in A : \operatorname{Re} \frac{zf''(z)}{f'(z)} + 1 > 0, z \in U \right\}$, the class of normalized convex functions in U.

In order to use the concept of fuzzy differential subordination, we remember the following definitions:

^{*}Address correspondence to this author at the Department of Mathematics and Computer Science, University of Oradea, str. Universitatii nr. 1, 410087 Oradea, Romania; E-mail: dalb@uoradea.ro, alblupas@gmail.com

Definition 1.1 [11] A pair (A,F_A) , where $F_A: X \to 0,1$] and $A = \{x \in X: 0 < F_A(x) \le 1\}$ is called fuzzy subset of *X*. The set *A* is called the support of the fuzzy set (A,F_A) and F_A is called the membership function of the fuzzy set (A,F_A) . One can also denote $A = \text{supp}(A,F_A)$.

Remark 1.1 [8] In the development work we use the following notations for fuzzy sets:

$$\begin{split} F_{f(D)}(f(z)) &= \text{supp} \\ \left(f(D), F_{f(D)} \cdot\right) &= \{z \in D : 0 < F_{f(D)}f(z) \le 1\}, \\ F_{p(U)}p(z) &= \text{supp} \\ \left(p(U), F_{p(U)} \cdot\right) &= \{z \in U : 0 < F_{p(U)}(p(z)) \le 1\}. \end{split}$$

We give a new definition of membership function on complex numbers set using the module notion of a complex number z = x + iy, $x, y \in R$, $|z| = \sqrt{x^2 + y^2} \ge 0$.

Example 1.1 Let $F: C \to R_+$ a function such that $F_C(z) = |F(z)|$, $\forall z \in C$. Denote by $F_C(C) = \{z \in C : 0 < F(z) \le 1\} = \{z \in C : 0 < |F(z)| \le 1\} = \sup p(C, F_C)$ the fuzzy subset of the complex numbers set. We call the subset $F_C(C) = U_F(0, 1)$ the fuzzy unit disk.

Definition 1.2 ([15]) Let $D \subset C$, $z_0 \in D$ be a fixed point and let the functions $f, g \in H(D)$. The function fis said to be fuzzy subordinate to g and write $f \prec_F g$ or $f(z) \prec_F g(z)$, if are satisfied the conditions:

$$1. \qquad f(z_0) = g(z_0),$$

2. $F_{f(D)}f(z) \leq F_{g(D)}g(z), \ z \in D.$

Definition 1.3 ([16, Definition 2.2]) Let $\psi: C^3 \times U \to C$ and h univalent in U, with $\psi(a,0;0) = h(0) = a$. If p is analytic in U, with p(0) = a and satisfies the (second-order) fuzzy differential subordination

$$F_{\psi(C^{3}\times U)}\psi(p(z),zp'(z),z^{2}p''(z);z) \le F_{h(U)}h(z), \quad z \in U,$$
(1.1)

then p is called a fuzzy solution of the fuzzy differential subordination. The univalent function q is called a fuzzy dominant of the fuzzy solutions of the fuzzy differential subordination, or more simple a fuzzy

dominant, if $F_{p(U)}p(z) \leq F_{q(U)}q(z)$, $z \in U$, for all p satisfying (1.1). A fuzzy dominant \tilde{q} that satisfies $F_{\tilde{q}(U)} \tilde{q}(z) \leq F_{q(U)}q(z)$, $z \in U$, for all fuzzy dominants q of (1.1) is said to be the fuzzy best dominant of (1.1).

Lemma 1.1 ([14, Corollary 2.6g.2, p. 66]) Let $h \in A$ and $L[f](z) = G(z) = \frac{1}{z} \int_{0}^{z} h(t) dt, \quad z \in U.$ If $Re\left(\frac{zh''(z)}{h'(z)} + 1\right) > -\frac{1}{2}, \ z \in U, \ then \ L(f) = G \in K.$

Lemma 1.2 ([17]) Let *h* be a convex function with h(0) = a, and let $\gamma \in C^*$ be a complex number with $\operatorname{Re} \gamma \ge 0$. If $p \in H[a,n]$ with p(0) = a, $\psi: C^2 \times U \to C$, $\psi(p(z),zp'(z);z) = p(z) + \frac{1}{\gamma}zp'(z)$ an analytic function in *U* and;

$$F_{\psi\left(c^{2}\times U\right)}\left(p(z)+\frac{1}{\gamma}zp'(z)\right) \leq F_{h\left(U\right)}h(z), \text{i.e.}p(z)$$

$$+\frac{1}{\gamma}zp'(z)\prec_{F}h(z), \quad z \in U,$$
(1.2)

then
$$F_{p(U)}p(z) \le F_{g(U)}g(z) \le F_{h(U)}h(z)$$
, i.e.
 $p(z) \prec_{n} g(z) \prec_{n} h(z)$, $z \in U$, where

$$g(z) = \frac{\gamma}{nz^{\gamma/n}} \int_0^z h(t) t^{\gamma/n-1} dt, \quad z \in U. \text{ The function } q \text{ is}$$

convex and is the fuzzy best dominant.

Lemma 1.3 ([17]) Let g be a convex function in U and let $h(z) = g(z) + n\alpha zg'(z)$, $z \in U$, where $\alpha > 0$ and n is a positive integer.

If $p(z) = g(0) + p_n z^n + p_{n+1} z^{n+1} + \dots, z \in U$, is holomorphic in U and $F_{p(U)}(p(z) + \alpha z p'(z)) \leq F_{h(U)}h(z)$, i.e. $p(z) + \alpha z p'(z) \prec_F h(z), \quad z \in U$, then $F_{p(U)}p(z) \leq F_{g(U)}g(z)$, i.e. $p(z) \prec_F g(z), \quad z \in U$, and this result is sharp.

We use the following differential operators.

Definition 1.4 (Al Oboudi [10]) For $f \in A$, $\lambda \ge 0$ and $m \in N$, the operator D_{λ}^{m} is defined by $D_{\lambda}^{m} : A \to A$, $D_{\lambda}^{0}f(z) = f(z)$ $D_{\lambda}^{1}f(z) = (1-\lambda)f(z) + \lambda z f'(z) = D_{\lambda}f(z),...$ $D_{\lambda}^{m+1}f(z) = (1-\lambda)D_{\lambda}^{m}f(z) + \lambda z (D_{\lambda}^{m}f(z))' = D_{\lambda}(D_{\lambda}^{m}f(z)), \in U.$ **Remark 1.3** For $\lambda = 1$ in the above definition we obtain the Să lă gean differential operator [19].

Definition 1.5 (Ruscheweyh [18]) For $f \in A$, $m \in N$, the operator R^m is defined by $R^m : A \to A$,

$$R^0f(z) = f(z)$$

 $R^1f(z) = zf'(z), \dots$

$$(m+1)R^{m+1}f(z) = z(R^m f(z))' + mR^m f(z), \quad z \in U.$$

Remark 1.4 If $f \in A$, $f(z) = z + \sum_{j=2}^{\infty} a_j z^j$, then $R^m f(z) = z + \sum_{j=2}^{\infty} C_{m+j-1}^m a_j z^j$, $z \in U$.

Definition 1.6 ([4]) Let $\alpha, \lambda \ge 0$, $m \in N$. Denote by $RD_{\lambda,\alpha}^m$ the operator given by $RD_{\lambda,\alpha}^m: A \to A$, $RD_{\lambda,\alpha}^m f(z) = (1-\alpha)R^m f(z) + \alpha D_{\lambda}^m f(z), z \in U$.

Remark 1.5 If $f \in A$, $f(z) = z + \sum_{j=2}^{\infty} a_j z^j$, then $RD_{\lambda,\alpha}^m f(z) = z + \sum_{j=2}^{\infty} \left\{ \alpha \left[1 + (j-1)\lambda \right]^m + (1-\alpha)C_{m+j-1}^m \right\} a_j z^j$, $z \in U$.

Remark 1.6 For $\alpha = 0$, $RD_{\lambda,0}^{m}f(z) = R^{m}f(z)$, $z \in U$, and for $\alpha = 1$, $RD_{\lambda,1}^{m}f(z) = D_{\lambda}^{m}f(z)$, $z \in U$. For $\lambda = 1$, we obtain $RD_{1\alpha}^{m}f(z) = L_{\alpha}^{m}f(z)$ which was studied in [1], [2], [5]. For m = 0, $RD_{\lambda,\alpha}^{0}f(z) = (1-\alpha)R^{0}f(z) + \alpha D_{\lambda}^{0}f(z) = f(z) = R^{0}f(z) = D_{\lambda}^{0}f(z)$, $z \in U$. The operator $RD_{\lambda,\alpha}^{m}$ was studied in [3], [4], [6], [7].

Remark 1.7 This paper is a particular case for [9].

2. MAIN RESULTS

Using the operator $RD_{\lambda,\alpha}^m$ defined in Definition 1.6 we define the class $RD_m^F(\delta,\lambda,\alpha)$ and we study fuzzy subordinations.

Definition 2.1 [8] Let f(D) = supp $(f(D), F_{f(D)}) = \{z \in D : 0 < F_{f(D)}f(z) \le 1\}$, where $F_{f(D)} \cdot \text{ is}$ the membership function of the fuzzy set f(D) asociated to the function f. The membership function of the fuzzy set $(\mu f)(D)$ associated to the function μf coincide with the membership function of the fuzzy set f(D)asociated to the function *f* , i.e. $F_{(\mu f)(D)}((\mu f)(z)) = F_{f(D)}f(z)$, $z \in D$. The membership function of the fuzzy set (f+g)(D) asociated to the function f + g coincide with the half of the sum of the membership functions of the fuzzy sets f(D), respectively g(D), asociated to the function f, respectively g , i.e. . .

$$F_{(f+g)(D)}\left((f+g)(z)\right) = \frac{F_{f(D)}f(z) + F_{g(D)}g(z)}{2}, \ z \in D.$$

Remark 2.1 [8] $F_{(f+g)(D)}((f+g)(z))$ can be defined in other ways. Since $0 < F_{f(D)}f(z) \le 1$ and $0 < F_{g(D)}g(z) \le 1$, it is evidently that $0 < F_{(f+g)(D)}((f+g)(z)) \le 1$, $z \in D$.

Definition 2.2 Let $\delta \in [0,1)$, $\alpha, \lambda \ge 0$ and $m \in N$. A function $f \in A$ is said to be in the class $RD_m^F(\delta, \lambda, \alpha)$ if it satisfies the inequality;

$$F_{\left(RD_{\lambda,\alpha}^{m}f\right)^{'}(U)}\left(RD_{\lambda,\alpha}^{m}f(z)\right)^{'} > \delta, \quad z \in U.$$
 (2.1)

Theorem 2.1 The set $RD_m^F(\delta,\lambda,\alpha)$ is convex.

Proof. Let the functions $f_j(z) = z + \sum_{j=2}^{\infty} a_{jk} z^j$, $k = 1, 2, z \in U$, be in the class $RD_m^F(\delta, \lambda, \alpha)$. It is sufficient to show that the function $h(z) = \eta_1 f_1(z) + \eta_2 f_2(z)$ is in the class $RD_m^F(\delta, \lambda, \alpha)$, with η_1 and η_2 nonnegative such that $\eta_1 + \eta_2 = 1$.

We have $h'(z) = (\mu_1 f_1 + \mu_2 f_2)'(z) = \mu_1 f_1'(z) + \mu_2 f_2'(z)$, $z \in U$, and

$$\begin{pmatrix} RD_{\lambda,\alpha}^{m}h(z) \end{pmatrix}' = \begin{pmatrix} RD_{\lambda,\alpha}^{m}(\mu_{1}f_{1} + \mu_{2}f_{2})(z) \end{pmatrix}'$$

= $\mu_{1} \begin{pmatrix} RD_{\lambda,\alpha}^{m}f_{1}(z) \end{pmatrix}' + \mu_{2} \begin{pmatrix} RD_{\lambda,\alpha}^{m}f_{2}(z) \end{pmatrix}' .$

From Definition 2.1 we obtain that

$$\begin{split} F_{\left(RD_{\lambda,\alpha}^{m}h\right)\left(U\right)}\left(RD_{\lambda,\alpha}^{m}h\left(z\right)\right) &= \\ F_{\left(RD_{\lambda,\alpha}^{m}\left(\mu_{1}f_{1}+\mu_{2}f_{2}\right)\right)\left(U\right)}\left(RD_{\lambda,\alpha}^{m}\left(\mu_{1}f_{1}+\mu_{2}f_{2}\right)\left(z\right)\right) &= \\ F_{\left(RD_{\lambda,\alpha}^{m}\left(\mu_{1}f_{1}+\mu_{2}f_{2}\right)\right)\left(U\right)}\left(\mu_{1}\left(RD_{\lambda,\alpha}^{m}f_{1}\left(z\right)\right) + \mu_{2}\left(RD_{\lambda,\alpha}^{m}f_{2}\left(z\right)\right)\right) &= \end{split}$$

$$\frac{F_{\left(\mu_{1}RD_{\lambda,\alpha}^{m}f_{1}\right)\left(U\right)}\left(\mu_{1}\left(RD_{\lambda,\alpha}^{m}f_{1}\left(z\right)\right)\right)+F_{\left(\mu_{2}RD_{\lambda,\alpha}^{m}f_{2}\right)\left(U\right)}\left(\mu_{2}\left(RD_{\lambda,\alpha}^{m}f_{2}\left(z\right)\right)\right)}{2}=\frac{F_{\left(RD_{\lambda,\alpha}^{m}f_{1}\right)\left(U\right)}\left(RD_{\lambda,\alpha}^{m}f_{1}\left(z\right)\right)+F_{\left(RD_{\lambda,\alpha}^{m}f_{2}\right)\left(U\right)}\left(RD_{\lambda,\alpha}^{m}f_{2}\left(z\right)\right)}{2}.$$

Since $f_1, f_2 \in RD_m^F(\delta, \lambda, \alpha)$ we have $\delta < F_{(RD_{\lambda, \alpha}^m f_1)(U)}$

$$\left(RD_{\lambda,\alpha}^{m}f_{1}\left(z\right)\right)^{'} \leq 1 \text{ and } \delta < F_{\left(RD_{\lambda,\alpha}^{m}f_{2}^{'}\right)^{'}\left(U\right)}\left(RD_{\lambda,\alpha}^{m}f_{2}\left(z\right)\right)^{'} \leq 1, \ z \in U.$$

Therefore $\delta < \frac{F_{\left(RD_{\lambda,\alpha}^{m}f_{1}\right)(U)}\left(RD_{\lambda,\alpha}^{m}f_{1}(z)\right) + F_{\left(RD_{\lambda,\alpha}^{m}f_{2}\right)(U)}\left(RD_{\lambda,\alpha}^{m}f_{2}(z)\right)}{2} \le 1$ and we obtain that $\delta < F_{\left(RD_{\lambda,\alpha}^{m}h\right)(U)}\left(RD_{\lambda,\alpha}^{m}h(z)\right) \le 1$, which means that $h \in RD_{m}^{F}\left(\delta,\lambda,\alpha\right)$ and $RD_{m}^{F}\left(\delta,\lambda,\alpha\right)$ is convex.

We highlight a fuzzy subset obtained using a convex function. Let the function $h(z) = \frac{1+z}{1-z}$, $z \in U$. After a short calculation we obtain that $Re\left(\frac{zh^{''}(z)}{h^{'}(z)}+1\right) = Re\frac{1+z}{1-z} > 0$, so $h \in K$ and $h(U) = \{z \in C : Rez > 0\}$. We define the membership function for the set h(U) as $F_{h(U)}(h(z)) = Reh(z)$, $z \in U$ and we have $F_{h(U)}h(z) = \operatorname{supp}(h(U), F_{h(u)}) = \{z \in C : 0 < F_{h(U)}(h(z)) \le 1\}$ $= \{z \in U : 0 < Rez \le 1\}$.

Theorem 2.2 Let g be a convex function in U and let $h(z) = g(z) + \frac{1}{c+2}zg'(z)$, where $z \in U$, c > 0.

If $f \in RD_m^F(\delta, \lambda, \alpha)$ and $G(z) = I_c(f)(z) = \frac{c+2}{z^{c+1}} \int_0^z t^c f(t) dt$, $z \in U$, then;

$$F_{\left(RD_{\lambda,\alpha}^{m}f\right)(U)}\left(RD_{\lambda,\alpha}^{m}f(z)\right) \leq F_{h(U)}h(z), \text{ i.e.}\left(RD_{\lambda,\alpha}^{m}f(z)\right) \prec_{F} h(z), z \in U,$$
(2.2)

implies

$$F_{\left(RD_{\lambda,\alpha}^{m}G^{'}(U)\right)}\left(RD_{\lambda,\alpha}^{m}G\left(z\right)\right)^{'} \leq F_{g(U)}g\left(z\right), \qquad \text{ i.e.}$$

 $(RD^{m}_{\lambda,\alpha}G(z))$ $\prec_{F} g(z), z \in U$, and this result is sharp.

Proof. We obtain that;

$$z^{c+1}G(z) = (c+2)\int_0^z t^c f(t) dt.$$
 (2.3)

Differentiating (2.3), with respect to z, we have (c+1)G(z)+zG'(z)=(c+2)f(z) and;

$$(c+1)RD^{m}_{\lambda,\alpha}G(z) + z(RD^{m}_{\lambda,\alpha}G(z)) = (c+2)RD^{m}_{\lambda,\alpha}f(z), \ z \in U.$$
(2.4)

Differentiating (2.4) we have

$$\left(RD_{\lambda,\alpha}^{m}G(z)\right)' + \frac{1}{c+2}z\left(RD_{\lambda,\alpha}^{m}G(z)\right)'' = \left(RD_{\lambda,\alpha}^{m}f(z)\right)', z \in U.$$
(2.5)

Using (2.5), the fuzzy differential subordination (2.2) becomes

$$F_{RD^{m}_{\lambda,\alpha}G(U)}\left(\left(RD^{m}_{\lambda,\alpha}G(z)\right)^{'}+\frac{1}{c+2}z\left(RD^{m}_{\lambda,\alpha}G(z)\right)^{''}\right)$$

$$\leq F_{g(U)}\left(g(z)+\frac{1}{c+2}zg^{'}(z)\right).$$
(2.6)

If we denote;

$$p(z) = \left(RD_{\lambda,\alpha}^{m}G(z) \right)^{'}, z \in U,$$
(2.7)

then $p \in H[1,1]$.,

Replacing (2.7) in (2.6) we obtain $F_{p(U)}\left(p(z) + \frac{1}{c+2}zp'(z)\right) \leq F_{g(U)}\left(g(z) + \frac{1}{c+2}zg'(z)\right),$ $z \in U. \text{ Using Lemma 1.3 we have } F_{p(U)}p(z) \leq F_{g(U)}g(z),$ $z \in U, \text{ i.e. } F_{\left(RD_{\lambda,\alpha}^{m}G'(z)\right)}\left(RD_{\lambda,\alpha}^{m}G(z)\right)' \leq F_{g(U)}g(z), z \in U, \text{ and } g \text{ is the best dominant. We have obtained that } \left(RD_{\lambda\alpha}^{m}G(z)\right)' \prec_{F}g(z), z \in U.$

Theorem 2.3 Let $h(z) = \frac{1+(2\delta-1)z}{1+z}$, $\delta \in [0,1)$ and c > 0. If $\alpha, \lambda \ge 0$, $m \in N$ and $I_c(f)(z) = \frac{c+2}{z^{c+1}} \int_0^z t^c f(t) dt$, $z \in U$, then;

$$I_{c}\left[RD_{m}^{F}(\delta,\lambda,\alpha)\right] \subset RD_{m}^{F}\left(\delta^{*},\lambda,\alpha\right),$$
(2.8)

where
$$\delta^* = 2\delta - 1 + (c+2)(2-2\delta)\beta(c)$$
 and $\beta(x) = \int_0^1 \frac{t^{x+1}}{t+1} dt.$

Proof. The function *h* is convex and using the same steps as in the proof of Theorem 2.2 we get from the hypothesis of Theorem 2.3 that $F_{p(U)}\left(p(z) + \frac{1}{c+2}zp'(z)\right) \le F_{h(U)}h(z)$, where p(z) is defined in (2.7).

Using Lemma 1.2 we deduce that
$$F_{p(U)}p(z) \le F_{g(U)}g(z) \le F_{h(U)}h(z)$$
, i.e.

$$F_{\left(RD_{\lambda,\alpha}^{m}G\right)(U)}\left(RD_{\lambda,\alpha}^{m}G\left(z\right)\right)' \leq F_{g(U)}g\left(z\right) \leq F_{h(U)}h\left(z\right), \quad \text{where}$$

$$g(z) = \frac{c+2}{z^{c+2}} \int_0^z t^{c+1} \frac{1+(2\delta-1)t}{1+t}$$

$$dt = (2\delta-1) + \frac{(c+2)(2-2\delta)}{z^{c+2}} \int_0^z \frac{t^{c+1}}{1+t} dt.$$
 Since g is

convex and g(U) is symmetric with respect to the real axis, we deduce;

$$F_{\left(RD_{\lambda,\alpha}^{m}G\right)(U)}\left(RD_{\lambda,\alpha}^{m}G(z)\right)' \ge \min_{|z|=1}F_{g(U)}g(z) = F_{g(U)}g(1)$$
(2.9)

and $\delta^* = g(1) = 2\delta - 1 + (c+2)(2-2\delta)\beta(c)$. From (2.9) we deduce inclusion (2.8).

Theorem 2.4 Let *g* be a convex function, g(0) = 1and let *h* be the function h(z) = g(z) + zg'(z), $z \in U$. If $\alpha, \lambda \ge 0$, $m \in N$, $f \in A$ and satisfies the fuzzy differential subordination

$$F_{\left(RD_{\lambda,\alpha}^{m}f\right)(U)}\left(RD_{\lambda,\alpha}^{m}f(z)\right)' \leq F_{h(U)}h(z), \text{ i.e.}\left(RD_{\lambda,\alpha}^{m}f(z)\right)' \prec_{F}h(z), z \in U,$$
(2.10)

 $F_{RD^m_{\lambda,\alpha}f(U)}\frac{RD^m_{\lambda,\alpha}f(z)}{z} \leq F_{g(U)}g(z),$

i.e.

then

 $\frac{RD_{\lambda,\alpha}^m f(z)}{z} \prec_F g(z), \ z \in U, \text{ and this result is sharp.}$

Proof. By using the properties of operator $RD_{\lambda,\alpha}^m$, we have

$$RD_{\lambda,\alpha}^{m}f(z) = z + \sum_{j=2}^{\infty} \left\{ \alpha \left[1 + (j-1)\lambda \right]^{m} + (1-\alpha)C_{m+j-1}^{m} \right\} a_{j}z$$

$$z \in U.$$

Consider

$$p(z) = \frac{RD_{\lambda\alpha}^{m}f(z)}{z} = \frac{z + \sum_{j=2}^{\infty} \left\{ \alpha \left[1 + (j-1)\lambda \right]^{m} + (1-\alpha)C_{m+j-1}^{m} \right\} a_{j}z^{j}}{z}$$

= 1 + p_{1}z + p_{2}z^{2} + ..., z \in U. We deduce that $p \in H[1,1]$

Let $RD_{\lambda,\alpha}^{m}f(z) = zp(z), \quad z \in U.$ Differentiating we obtain $\left(RD_{\lambda,\alpha}^{m}f(z)\right) = p(z) + zp'(z), \quad z \in U.$ Then (2.10) becomes

$$F_{p(U)}\left(p(z) + zp'(z)\right) \leq F_{h(U)}h(z) = F_{g(U)}\left(g(z) + zg'(z)\right), \ z \in U.$$

By using Lemma 1.3, we have $F_{p(U)}p(z) \leq F_{g(U)}g(z)$, $z \in U$, i.e. $F_{RD_{\lambda,\alpha}^m f(U)} \frac{RD_{\lambda,\alpha}^m f(z)}{z} \leq F_{g(U)}g(z)$, $z \in U$. We obtained that $\left(RD_{\lambda,\alpha}^m f(z)\right) \prec_F h(z)$, $z \in U$, and this results is sharp.

Theorem 2.5 Let *h* be an holomorphic function which satisfies the inequality $\operatorname{Re}\left(1+\frac{zh^{''}(z)}{h^{'}(z)}\right) > -\frac{1}{2}$, $z \in U$, and h(0) = 1. If $\alpha, \lambda \ge 0$, $m \in N$, $f \in A$ and satisfies the fuzzy differential subordination

$$\begin{split} F_{\left(RD_{\lambda,\alpha}^{m}f\right)(U)}\left(RD_{\lambda,\alpha}^{m}f(z)\right) &\leq F_{h(U)}h(z), \text{i.e.}\left(RD_{\lambda,\alpha}^{m}f(z)\right) \\ & \prec_{F}h(z), z \in U, \end{split}$$

$$(2.11)$$

then $F_{RD^m_{\lambda,\alpha}f(U)} \frac{RD^m_{\lambda,\alpha}f(z)}{z} \le F_{q(U)}q(z)$, i.e.

 $\frac{RD_{\lambda,\alpha}^{m}f(z)}{z} \prec_{F} q(z), \quad z \in U, \text{ where } q(z) = \frac{1}{z} \int_{0}^{z} h(t) dt. \text{ The function } q \text{ is convex and it is the fuzzy best dominant.}$

Proof.Let

$$p(z) = \frac{RD_{\lambda,\alpha}^{m}f(z)}{z} = \frac{z + \sum_{j=2}^{\infty} \left\{ \alpha \left[1 + (j-1)\lambda \right]^{m} + (1-\alpha)C_{m+j-1}^{m} \right\} a_{j}z^{j}}{z} = 1 + \sum_{j=2}^{\infty} \left\{ \alpha \left[1 + (j-1)\lambda \right]^{m} + (1-\alpha)C_{m+j-1}^{m} \right\} a_{j}z^{j-1} = 1 + \sum_{j=2}^{\infty} p_{j}z^{j-1}, \ z \in U, \ p \in H[1,1].$$

Since $\operatorname{Re}\left(1+\frac{zh^{''}(z)}{h'(z)}\right) > -\frac{1}{2}, \quad z \in U$, from Lemma $\frac{z^{J}}{2}$, 1.1, we obtain that $q(z) = \frac{1}{z} \int_{0}^{z} h(t) dt$ is a convex function and verifies the differential equation associated to the fuzzy differential subordination (2.11)

q(z) + zq'(z) = h(z), therefore it is the fuzzy best dominant. (2.11)

Differentiating, we obtain $(RD_{\lambda,\alpha}^{m}f(z)) = p(z) + zp'(z)$, for $z \in U$ and (2.11) becomes $F_{p(U)}(p(z) + zp'(z)) \leq F_{h(U)}h(z)$, $z \in U$. Using Lemma 1.2, we have $F_{p(U)}p(z) \leq F_{q(U)}q(z)$, $z \in U$, i.e. $F_{RD_{\lambda,\alpha}^{m}f(U)} \frac{RD_{\lambda,\alpha}^{m}f(z)}{z} \leq F_{q(U)}q(z)$, $z \in U$. We have obtained that $\frac{RD_{\lambda,\alpha}^{m}f(z)}{z} \prec_{F} q(z)$, $z \in U$. **Corollary 2.6** Let $h(z) = \frac{1 + (2\beta - 1)z}{1 + z}$ a convex function in U, $0 \le \beta < 1$. If $\alpha, \lambda \ge 0$, $m \in N$, $f \in A$ and satisfies the fuzzy differential subordination;

$$F_{\left(RD_{\lambda,\alpha}^{m}f\right)(U)}\left(RD_{\lambda,\alpha}^{m}f(z)\right) \leq F_{h(U)}h(z), \text{i.e.}\left(RD_{\lambda,\alpha}^{m}f(z)\right) \prec_{F} h(z), z \in U,$$
(2.12)

Proof. We have
$$h(z) = \frac{1 + (2\beta - 1)z}{1 + z}$$
 with $h(0) = 1$,
 $h'(z) = \frac{-2(1 - \beta)}{(1 + z)^2}$ and $h''(z) = \frac{4(1 - \beta)}{(1 + z)^3}$, therefore
 $Re\left(\frac{zh''(z)}{h'(z)} + 1\right) = Re\left(\frac{1 - z}{1 + z}\right) = Re\left(\frac{1 - \rho\cos\theta - i\rho\sin\theta}{1 + \rho\cos\theta + i\rho\sin\theta}\right) = \frac{1 - \rho^2}{1 + 2\rho\cos\theta + \rho^2} > 0 > -\frac{1}{2}$.

Following the same steps as in the proof of Theorem 2.5 and considering $p(z) = \frac{RD_{\lambda,\alpha}^m f(z)}{z}$, the differential subordination (2.12) becomes $F_{RD_{\lambda,\alpha}^m f(U)} \left(p(z) + z p'(z) \right) \le F_{h(U)} h(z), \quad z \in U.$ By using Lemma 1.2 for $\gamma = 1$, we have $F_{p(U)} p(z) \le F_{q(U)} q(z)$, i.e. $F_{RD_{\lambda,\alpha}^m f(U)} \frac{RD_{\lambda,\alpha}^m f(z)}{z} \le F_{q(U)} q(z)$ and $q(z) = -\frac{1}{z} \int_0^z h(t) dt = -\frac{1}{z} \int_0^z \frac{1 + (2\beta - 1)t}{1 + t} dt = -2\beta - 1 + \frac{2(1 - \beta)}{z} \ln(1 + z), \quad z \in U.$

Example 2.1 Let $h(z) = \frac{1-z}{1+z}$ a convex function in U with h(0) = 1 and $Re\left(\frac{zh''(z)}{h'(z)} + 1\right) > -\frac{1}{2}$.

Let $f(z) = z + z^2$, $z \in U$. For m = 1, $\lambda = \frac{1}{2}$, $\alpha = 2$, we obtain $RD_{\frac{1}{2}2}^{1}f(z) = -R^{1}f(z) + 2D_{\frac{1}{2}}^{1}f(z) = -zf'(z) + 2\left(\frac{1}{2}f(z) + \frac{1}{2}zf'(z)\right) = f(z) = z + z^2$, $z \in U$. Then $\left(RD_{\frac{1}{2}2}^{1}f(z)\right) = f'(z) = 1 + 2z$ and $\frac{RD_{\frac{1}{2}2}^{1}f(z)}{z} = 1 + z$. We

have
$$q(z) = \frac{1}{z} \int_0^z \frac{1-t}{1+t} dt = -1 + \frac{2\ln(1+z)}{z}$$

Using Theorem 2.5 we obtain $1+2z \prec_F \frac{1-z}{1+z}$, $z \in U$, induce $1+z \prec_F -1 + \frac{2\ln(1+z)}{z}$, $z \in U$.

Theorem 2.7 Let g be a convex function such that g(0) = 1 and let h be the function h(z) = g(z) + zg'(z), $z \in U. \text{ If } \alpha, \lambda \ge 0, \quad m \in N, \quad f \in A \text{ and the fuzzy}$ differential subordination $F_{RD_{\lambda,\alpha}^{m}f(U)} \left(\frac{(m+1)(m+2)}{z} RD_{\lambda,\alpha}^{m+2}f(z) - \frac{(m+1)(2m+1)}{z} RD_{\lambda,\alpha}^{m+1}f(z) + \frac{m^2}{z} RD_{\lambda,\alpha}^m f(z) - \frac{\alpha\left[(m+1)(m+2) - \frac{1}{\lambda^2}\right]}{z} D_{\lambda}^{m+2}f(z)$ $+ \frac{\alpha\left[(m+1)(2m+1) - \frac{2(1-\lambda)}{\lambda^2}\right]}{z} D_{\lambda}^m f(z)) \le F_{h(U)}h(z), \text{ i.e.}$ $\frac{(m+1)(m+2)}{z} RD_{\lambda,\alpha}^{m+2}f(z) - \frac{(m+1)(2m+1)}{z} RD_{\lambda,\alpha}^{m+1}f(z) + \frac{m^2}{z} RD_{\lambda,\alpha}^m f(z) - \frac{\alpha\left[(m+1)(m+2) - \frac{1}{\lambda^2}\right]}{z} D_{\lambda}^{m+2}f(z) + \frac{\alpha\left[(m+1)(2m+1) - \frac{2(1-\lambda)}{\lambda^2}\right]}{z} D_{\lambda}^{m+1}f(z) - \frac{\alpha\left[(m+1)(m+2) - \frac{1}{\lambda^2}\right]}{z} D_{\lambda}^{m+2}f(z) + \frac{\alpha\left[(m+1)(2m+1) - \frac{2(1-\lambda)}{\lambda^2}\right]}{z} D_{\lambda}^{m+1}f(z) - \frac{\alpha\left[(m+1)(m+2) - \frac{1}{\lambda^2}\right]}{z} D_{\lambda}^{m+2}f(z) + \frac{\alpha\left[(m+1)(2m+1) - \frac{2(1-\lambda)}{\lambda^2}\right]}{z} D_{\lambda}^{m+1}f(z) - \frac{\alpha\left[(m+1)(m+2) - \frac{1}{\lambda^2}\right]}{z} D_{\lambda}^{m+2}f(z) + \frac{\alpha\left[(m+1)(2m+1) - \frac{2(1-\lambda)}{\lambda^2}\right]}{z} D_{\lambda}^{m+1}f(z) - \frac{\alpha\left[(m+1)(m+2) - \frac{1}{\lambda^2}\right]}{z} D_{\lambda}^{m+2}f(z) + \frac{\alpha\left[(m+1)(2m+1) - \frac{2(1-\lambda)}{\lambda^2}\right]}{z} D_{\lambda}^{m+1}f(z) - \frac{\alpha\left[(m+1)(m+2) - \frac{1}{\lambda^2}\right]}{z} D_{\lambda}^{m+2}f(z) + \frac{\alpha\left[(m+1)(2m+1) - \frac{2(1-\lambda)}{\lambda^2}\right]}{z} D_{\lambda}^{m+1}f(z) - \frac{\alpha\left[(m+1)(2m+1) - \frac{2(1-\lambda)}{\lambda^2}\right]}{z} D_{\lambda}^{m+1}f(z) + \frac{\alpha\left[(m+1)(2m+1) - \frac{2(1-\lambda)}{\lambda^2}\right]}{z} D_{\lambda}^{m+1}f(z) - \frac{\alpha\left[(m+1)(2m+1) - \frac{2(1-\lambda)}{\lambda^2}\right]}{z} D_{\lambda}^{m+1}f(z) + \frac{\alpha\left[(m+1)(2m+1) - \frac{2(1-\lambda)}{\lambda^2}\right]}{z} D_{\lambda}^{m+1}f(z) - \frac{\alpha\left[(m+1)(2m+1) - \frac{2(1-\lambda)}{\lambda^2}\right]}{z} D_{\lambda}^{m+1}f(z) + \frac{\alpha\left[(m+1)(2m+1) - \frac$

holds, then $F_{\left(RD_{\lambda,\alpha}^{m}f\right)(U)}\left[RD_{\lambda,\alpha}^{m}f(z)\right] \leq F_{g(U)}g(z)$, i.e. $\left[RD_{\lambda,\alpha}^{m}f(z)\right] \prec_{F} g(z), \ z \in U$. This result is sharp.

Proof. Let

$$p(z) = \left(RD_{\lambda,\alpha}^{m}f(z)\right)' = (1-\alpha)\left(R^{m}f(z)\right)' + \alpha\left(D_{\lambda}^{m}f(z)\right)'$$
(2.14)
$$= 1 + \sum_{j=2}^{\infty} \left\{\alpha\left[1 + (j-1)\lambda\right]^{m} + (1-\alpha)C_{m+j-1}^{m}\right\} ja_{j}z^{j-1}$$

$$= 1 + p_{1}z + p_{2}z^{2} + \dots \text{ We deduce that } p \in H[1,1].$$

By using the properties of operators $RD^m_{\lambda,\alpha}$, R^m and D^m_{λ} , after a short calculation, we obtain;

$$p(z) + zp'(z) = \frac{(m+1)(m+2)}{z} RD_{\lambda,\alpha}^{m+2} f(z) - \frac{(m+1)(2m+1)}{z}$$

$$RD_{\lambda,\alpha}^{m+1} f(z) + \frac{m^2}{z} RD_{\lambda,\alpha}^m f(z) - \frac{\alpha \left[(m+1)(m+2) - \frac{1}{\lambda^2} \right]}{z} D_{\lambda}^{m+2} f(z) + \frac{\alpha \left[(m+1)(2m+1) - \frac{2(1-\lambda)}{\lambda^2} \right]}{z} D_{\lambda}^{m+1} f(z)$$

$$- \frac{\alpha \left[m^2 - \frac{(1-\lambda)^2}{\lambda^2} \right]}{z} D_{\lambda}^m f(z).$$

Using the notation in (2.14), the fuzzy differential subordination $F_{p(U)}(p(z) + zp'(z)) \leq F_{h(U)}h(z) = F_{g(U)}(g(z) + zg'(z)).$ By using Lemma 1.3, we have $F_{p(U)}p(z) \leq F_{g(U)}g(z), z \in U,$ i.e. $F_{RD_{\lambda,\alpha}^m f(U)}(RD_{\lambda,\alpha}^m f(z))' \leq F_{g(U)}g(z), z \in U,$ and this result is sharp.

Theorem 2.8 Let *h* be an holomorphic function which satisfies the inequality $\operatorname{Re}\left[1+\frac{zh^{''}(z)}{h^{'}(z)}\right] > -\frac{1}{2}$, $z \in U$, and h(0) = 1. If $\alpha, \lambda \ge 0$, $m \in N$, $f \in A$ and satisfies the fuzzy differential subordination;

$$\begin{split} F_{RD_{\lambda,\alpha}^{m}f(U)} &(\frac{(m+1)(m+2)}{z} RD_{\lambda,\alpha}^{m+2} f(z) - \frac{(m+1)(2m+1)}{z} \\ RD_{\lambda,\alpha}^{m+1} f(z) + \frac{m^{2}}{z} RD_{\lambda,\alpha}^{m} f(z) - \frac{\alpha \left[(m+1)(m+2) - \frac{1}{\lambda^{2}} \right]}{z} D_{\lambda}^{m+2} f(z) \\ &+ \frac{\alpha \left[(m+1)(2m+1) - \frac{2(1-\lambda)}{\lambda^{2}} \right]}{z} D_{\lambda}^{m+1} f(z) - \frac{\alpha \left[m^{2} - \frac{(1-\lambda)^{2}}{\lambda^{2}} \right]}{z} \\ D_{\lambda}^{m} f(z)) &\leq F_{h(U)} h(z) \text{, i.e.} \end{split}$$

$$\frac{(m+1)(m+2)}{z} RD_{\lambda,\alpha}^{m+2} f(z) - \frac{(m+1)(2m+1)}{z}$$

$$RD_{\lambda,\alpha}^{m+1} f(z) + \frac{m^2}{z} RD_{\lambda,\alpha}^m f(z) - \frac{\alpha \left[(m+1)(m+2) - \frac{1}{\lambda^2} \right]}{z} D_{\lambda}^{m+2} f(z) + \frac{\alpha \left[(m+1)(2m+1) - \frac{2(1-\lambda)}{\lambda^2} \right]}{z} D_{\lambda}^{m+1} f(z) - \frac{\alpha \left[m^2 - \frac{(1-\lambda)^2}{\lambda^2} \right]}{z} D_{\lambda}^m f(z) \prec_F h(z), \quad z \in U, \quad (2.15)$$

then $F_{RD_{\lambda,\alpha}^m f(U)} \left(RD_{\lambda,\alpha}^m f(z) \right)^{'} \leq F_{q(U)}q(z)$ i.e. $\left(RD_{\lambda,\alpha}^m f(z) \right)^{'} \prec_F q(z), \quad z \in U, \text{ where } q \text{ is given by } q(z) = \frac{1}{z} \int_0^z h(t) dt.$ The function q is convex and it is the fuzzy best dominant.

Proof. Since
$$\operatorname{Re}\left(1+\frac{zh''(z)}{h'(z)}\right) > -\frac{1}{2}, \quad z \in U,$$
 from

Lemma 1.1, we obtain that $q(z) = \frac{1}{z} \int_0^z h(t) dt$ is a convex function and verifies the differential equation associated to the fuzzy differential subordination (2.11) q(z) + zq'(z) = h(z), therefore it is the fuzzy best dominant.

Using the properties of operator $RD_{\lambda,\alpha}^{m}$ and considering $p(z) = (RD_{\lambda,\alpha}^{m}f(z))^{'}$, we obtain $p(z) + zp'(z) = \frac{(m+1)(m+2)}{z}RD_{\lambda,\alpha}^{m+2}f(z) - \frac{(m+1)(2m+1)}{z}RD_{\lambda,\alpha}^{m+1}f(z) + \frac{m^{2}}{z}RD_{\lambda,\alpha}^{n}f(z) - \frac{\alpha\left[(m+1)(m+2) - \frac{1}{\lambda^{2}}\right]}{z}D_{\lambda}^{m+2}f(z) + \frac{\alpha\left[(m+1)(2m+1) - \frac{2(1-\lambda)}{\lambda^{2}}\right]}{z}D_{\lambda}^{m+1}f(z) - \frac{\alpha\left[m^{2} - \frac{(1-\lambda)^{2}}{\lambda^{2}}\right]}{z}D_{\lambda}^{m}f(z), z \in U.$

Then (2.15) becomes $F_{p(U)}(p(z) + zp'(z)) \leq F_{h(U)}h(z)$, $z \in U$. Since $p \in H[1,1]$, using Lemma 1.2, we deduce $F_{p(U)}p(z) \leq F_{q(U)}q(z)$, $z \in U$, i.e. $F_{RD^m_{\lambda,\alpha}f(U)}(RD^m_{\lambda,\alpha}f(z)) \leq F_{q(U)}q(z)$, $z \in U$.

Corollary 2.9 Let $h(z) = \frac{1 + (2\beta - 1)z}{1 + z}$ be a convex function in U, where $0 \le \beta < 1$. If $\alpha, \lambda \ge 0$, $m \in N$, $f \in A$ and satisfies the fuzzy differential subordination $F_{RD_{\lambda,\alpha}^m f(U)}(\frac{(m+1)(m+2)}{z}RD_{\lambda,\alpha}^{m+2}f(z) - \frac{(m+1)(2m+1)}{z}RD_{\lambda,\alpha}^{m+1}f(z)$ $+\frac{m^2}{z}RD_{\lambda,\alpha}^m f(z) - \frac{\alpha\left[(m+1)(m+2) - \frac{1}{\lambda^2}\right]}{z}D_{\lambda}^{m+2}f(z)$

$$+\frac{\alpha\left[(m+1)(2m+1)-\frac{2(1-\lambda)}{\lambda^2}\right]}{z}D_{\lambda}^{m+1}f(z) - \frac{\alpha\left[m^2-\frac{(1-\lambda)^2}{\lambda^2}\right]}{z}D_{\lambda}^mf(z))$$

 $\leq F_{h(U)}h(z)$, i.e.

$$\frac{(m+1)(m+2)}{z} RD_{\lambda,\alpha}^{m+2} f(z) - \frac{(m+1)(2m+1)}{z} RD_{\lambda,\alpha}^{m+1} f(z) + \frac{m^2}{z} RD_{\lambda,\alpha}^m f(z) - \frac{\alpha \left[(m+1)(m+2) - \frac{1}{\lambda^2} \right]}{z} D_{\lambda}^{m+2} f(z) + \frac{\alpha \left[(m+1)(2m+1) - \frac{2(1-\lambda)}{\lambda^2} \right]}{z} D_{\lambda}^{m+1} f(z) - \frac{\alpha \left[m^2 - \frac{(1-\lambda)^2}{\lambda^2} \right]}{z} D_{\lambda}^m f(z) \prec_F h(z), \quad z \in U,$$
(2.16)

then $F_{RD_{\lambda,\alpha}^{m}f(U)}\left(RD_{\lambda\alpha}^{m}f(z)\right) \leq F_{q(U)}q(z)$, i.e. $\left(RD_{\lambda,\alpha}^{m}f(z)\right) \prec_{F} q(z)$, $z \in U$, where q is given by $q(z) = 2\beta - 1$ $+ \frac{2(1-\beta)}{z}\ln(1+z)$, $z \in U$. The function q is convex and it is the fuzzy best dominant.

Proof. Following the same steps as in the proof of Theorem 2.7 and considering $p(z) = \left(RD_{\lambda,\alpha}^m f(z)\right)^{\prime}$, the differential subordination (2.16) becomes $F_{p(U)}\left(p(z) + zp^{\prime}(z)\right) \leq F_{h(U)}h(z), \quad z \in U$. By using Lemma 1.2 for $\gamma = 1$, we have $F_{p(U)}p(z) \leq F_{q(U)}q(z)$, i.e. $F_{\left(RD_{\lambda,\alpha}^m f'(z)\right)^{\prime}}\left(RD_{\lambda,\alpha}^m f(z)\right)^{\prime} \leq F_{q(U)}q(z)$,i.e. $\left(RD_{\lambda,\alpha}^m f(z)\right)^{\prime} \prec_F q(z)$, and $q(z) = \frac{1}{z} \int_0^z h(t) dt = \frac{1}{z} \int_0^z \frac{1 + (2\beta - 1)t}{1 + t} dt = 2\beta - 1 + \frac{2(1 - \beta)}{z} \ln(1 + z), \quad z \in U$.

Example 2.2 Let $h(z) = \frac{1-z}{1+z}$ a convex function in U with h(0) = 1 and $Re\left(\frac{zh''(z)}{h'(z)} + 1\right) > -\frac{1}{2}$.

Let $f(z) = z + z^2$, $z \in U$. For m = 1, $\lambda = \frac{1}{2}$, $\alpha = 2$, we obtain $RD_{\frac{1}{2}z^2}^1 f(z) = -R^1 f(z) + 2D_{\frac{1}{2}}^1 f(z) = -zf'(z) + 2\left(\frac{1}{2}f(z) + \frac{1}{2}zf'(z)\right) = f(z) = z + z^2$ and

$$(m+1)RD_{\lambda,\alpha}^{m+1}f(z) - (m-1)RD_{\lambda,\alpha}^{m}f(z) \qquad -\alpha\left(m+1-\frac{1}{\lambda}\right)$$

$$\begin{bmatrix} D_{\lambda}^{m+1}f(z) - D_{\lambda}^{m}f(z) \end{bmatrix} = 2RD_{\frac{1}{2},2}^{2}f(z) = -2 + 2z, \quad \text{where}$$

$$RD_{\frac{1}{2},2}^{2}f(z) = -R^{2}f(z) + 2D_{\frac{1}{2}}^{2}f(z) = -(1+3z^{2}) + 2\left(\frac{1}{2}z + \frac{3}{2}z^{2}\right)$$

$$= -1 + z. \text{ We have } q(z) = \frac{1}{z}\int_{0}^{z}\frac{1-t}{1+t}dt = -1 + \frac{2\ln(1+z)}{z}.$$

Using Theorem 2.8 we obtain $-2 + 2z \prec_F \frac{1-z}{1+z}$, $z \in U$, induce $z + z^2 \prec_F -1 + \frac{2\ln(1+z)}{z}$, $z \in U$.

REFERENCES

- [1] Alb Lupas A. On special differential subordinations using Sălăgean and Ruscheweyh operators, Mathematical Inequalities and Applications 2009; 12(4): 781-790. https://doi.org/10.7153/mia-12-61
- [2] Alina Alb Lupas. On a certain subclass of analytic functions defined by Salagean and Ruscheweyh operators, Journal of Mathematics and Applications 2009; 31: 67-76.
- [3] Alina Alb Lupas. On special differential subordinations using a generalized Sălăgean operator and Ruscheweyh derivative, Journal of Computational Analysis and Applications 2011; 13(1): 98-107.
- [4] Alb Lupas A. On a certain subclass of analytic functions defined by a generalized Sălăgean operator and Ruscheweyh derivative, Carpathian Journal of Mathematics 2012; 28(2): 183-190.
- [5] Alb Lupas A. Daniel Breaz, On special differential superordinations using Sălăgean and Ruscheweyh operators, Geometric Function Theory and Applications' 2010 (Proc. of International Symposium, Sofia 2010; 27-31: 98-103.
- [6] Alb Lupas A. On special differential superordinations using a generalized Sălăgean operator and Ruscheweyh derivative, Computers and Mathematics with Applications 2011; 61: 1048-1058. <u>https://doi.org/10.1016/j.camwa.2010.12.055</u>
- [7] Alina Alb Lupas. Certain special differential superordinations using a generalized Sălăgean operator and Ruscheweyh derivative, Analele Universitatii Oradea, Fasc. Matematica, Tom 2011; XVIII: 167-178.
- [8] Alb Lupas A. Gh. Oros, On special fuzzy differential subordinations using Sălăgean and Ruscheweyh operators, submitted Applied Mathematics and Computation.
- [9] Alina Alb Lupas. A Note on Special Fuzzy Differential Subordinations Using Generalized Salagean Operator and Ruscheweyh Derivative, Journal of Computational Analysis and Applications 2013; 15(8): 1476-1483.
- Al-Oboudi FM. On univalent functions defined by a generalized Sălăgean operator. Ind J Math Math Sci 2004; 27: 1429-1436. <u>https://doi.org/10.1155/S0161171204108090</u>
- [11] Gh. Gal S, Ban Al. Elemente de matematic \breve{a} fuzzy, Oradea, 1996.
- [12] Miller SS and Mocanu PT. Second order differential inequalities in the complex plane, J. Math. Anal. Appl.,

Oros GI and Oros Gh. Fuzzy differential subordinations, Acta

Oros GI and Oros Gh. Dominant and best dominant for fuzzy

differential subordinations, Stud. Univ. Babes-Bolyai Math

Ruscheweyh St. New criteria for univalent functions. Proc

Sălăgean GSt. Subclasses of univalent functions, Lecture

Notes in Math. Springer Verlag Berlin 1983; 1013: 362-372.

https://doi.org/10.1090/S0002-9939-1975-0367176-1

Universitatis Apulensis 2012; 30: 55-64.

Amet Math Soc 1975; 49: 109-115.

2012; 57(2): 239-248.

65(1978), 298-305. https://doi.org/10.1016/0022-247X(78)90181-6

- [13] Miller SS and Mocanu PT. Differential subordinations and univalent functions, Michigan Math J 1985; 32: 157-171.
- [14] Miller SS and Mocanu PT. Differential Subordinations. Theory and Applications, Monographs and Textbooks in Pure and Applied Mathematics Marcel Dekker Inc., New York, Basel 2000; 225.
- [15] Oros GI and Oros Gh. The notion of subordination in fuzzy sets theory, General Mathematics 2011; 19(4): 97-103.

Received on 25-09-2017

Accepted on 05-12-2017

[16]

[17]

[18]

[19]

Published on 30-12-2017

DOI: http://dx.doi.org/10.15377/2409-5761.2017.04.5

© 2017 Alina Alb Lupas; Avanti Publishers.

This is an open access article licensed under the terms of the Creative Commons Attribution Non-Commercial License (<u>http://creativecommons.org/licenses/by-nc/3.0/</u>) which permits unrestricted, non-commercial use, distribution and reproduction in any medium, provided the work is properly cited.